RiELERTRFEFHRELLE

94 & 127" 20 45 ER % 4= (Trc ¢ R E

109# 06 » 16 P 1085 =A%~ 2% 5= Fi+§ RULE
109# 07 2 16 P 1085 #RMYT 2% 6= Fir§ RULE
109# 08 » 11 p 1098 ER% | X FrcgRULE
112 # 04 * 11 P II1 B &R % 6K (TrcgiRLE

- TRz EAS :%‘T(UT HAEAMOZETEGRAES > L3RR 2 P EFH LG
2 kX3 AL G 2T % = ‘
BAREGGE > CRME B TR ERSFUNT AT RITEL R (1

:1

THAAR f%!«) °
CERREZE £3
()R F %

f%’f?%‘ﬁi?%i%%(%’?—&)‘}_E&I«’%ﬁ& # g WT8e 4R ¢
B =

yE2 HOTH R 2 R A AR LR N F(
- AR BRI SR A B k2w

% I R S R
- LX) MR B A IR

SUAEE
Porsp R AR PEATH AR RMET £ - R 2R F 0T

l.oBF - %(7 )&

(D% - ¢ =g % £ 20,000 ~ -
()%= ¢ g# R £ 15,000 ~ -
%= ¢ p#EE £ 10,000 =~ -
(DFw & sFFEF L7000~ -

(B)$ T & g3 5% £ 6,000 = o

(6)% = & : »E3 5% £ 5,000 = o

(%= & g3 g £ 4,000~ -

)% ~ ¢ g £ 4,000 ~ -

- (e )e

(D% - ¢ =g % £ 10,000 ~ -
()% = & sp3 8 £ 8,000 = o

(DF = & sE % £ 6,000 = o

(DFw & sFFEEE 4,000~ -

(B)$ T & sp 8 £ 3,000 = o

()%= & :sE3 2% £ 3,000 = o

(%= ¢ g3 g £2000~-

B)% ~ &g Eg £ 2,000 ~ -

CORERE
1% - % s g £ 200,000 ~ -



7

b~y

2.

/4

/4

4

~N

(DERT B8 § 2 SHEHD B 44 o

(DEFN > BHRT 0 @F g B RFAp 22 FHEFH - 24 o

(@&ﬂ%i%“i@@gﬁﬁﬁ%ﬁﬂijﬁﬁﬁg“—?ﬁo

%!v::é»’n;' LEE £120,000~ -

(DERHTER I RFAP T I L4 -

(DE7N» BT s @d g PR 2L RHBERFF= 24 -

(DEF| > BT i BH T ARFAD LG HEREH - 2 24

(DEZN»BHRT REd I RFAIZ LR FEd ¢ HEFS - v

(B)EF| » BT b ¢ PN FHI 2L R F(P)EHEFLF 2R 5
EHEF- K -

3. %= s SR £80,000%~ -

(DB > BHT L@ RN HFMI 2L R RFHERHERFS - ~ 2 &
-% o

()E7| ~ BT 5Li8d ¢ 1 ;\ﬁ-%;ﬁg EHARRTZ L

(DEAN > BT 5 8h 6 LN RFH P 2 A FFR g5 LF -

(DEF»BHRT R EHEINRFAP 2L R F(P)EHBEFLFERELT 0
Ehgr- = LF

GV » BHTLEH ¢ T NRPAP 2 LM F(P)RBEFH= 4% -

S RRBAMBEE LY G - E- I FE R B U

&iw LR 2R R RRE R § R B EE £ 20,000 ~ 0 By ER RS A
(@m%_u+¥_#wWW2&w%ﬁﬂ)’4*~’%ﬁ? 30,000 =~ -
—‘Wr A FHRERE P RBLE R TRT ZVYERFE TREFRY

AR RFET A EATE AR -

ARELLAES £2 Y o EEGY 10 P mRIIPMEP Y EFIHT IR
%%Eﬁ/:_ %F%IE E] ﬁﬁl 3{"}% l"ﬁ$ Y S = 'é‘z'ﬁ ’j‘f o

ABBLATERE b2 P d AP L APMAR R A o

ALBEFICERELE  MGREPTE R F o



